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According to their deterioration — J901 9722

OVERVIEW

The X1 cited a mawn which stated; ‘if someone deposited M0 by his friend even if
they are deteriorating, the 7791 should not touch them; however, 3"2w7 maintains that
he should sell them in 7"22 for it is like 777°2& naws. This dispute was further clarified
by 131 " who maintained that the argument between 71271 3"2w1 is only if the loss
was 1117071 °722; however if the loss was more than 11170717 *72, all agree that he should
sell it. There is a dispute between "1 and NMooIN as to the meaning of 111707 >72.
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>'"'w9 explains that the term 7117077 752 means in the manner which produce

deteriorates. In such a situation 3"2w1 maintains they should be sold; while the 2251 maintain
they should be left alone.

mooIn has a difficulty with this interpretation of 1117017 >722:
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And the ' has a difficulty with s""w1 explanation; if this is so that we are discussing
a case where the produce is deteriorating in a normal manner, what is the reasoning of
2''aw who maintains that the 7751 should sell this produce through 7''52?!

mooin offers a different explanation of the term 1117017 >722:
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And the 5''9 states that 1117017 *752 means that we are discussing a case where the
produce deteriorated in one month more than the pro-rated deterioration

would amount per month* -
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And it is called 179917 5722 (even though it is more than the pro-rated amount)
because it did not deteriorate more than the loss that it accumulates for an

" The produce is deteriorating in the normal manner which one would expect produce to deteriorate.

? (Seemingly) the owner is suffering no loss; for if the produce would be in his possession it would deteriorate at the
same rate. He deposited it by his friend knowing full well that there will be normal loss.

* If we were to assume that this particular produce losses twelve pounds per hundred in one year. The pro rated
amount per month would be one pound (per hundred). If it deteriorates more than a pound per month (but less than
twelve pounds) it is (still) called 111701 >702.

* 3"awn therefore maintains that he may sell it; for otherwise the loss may accumulate to more than the yearly
allotment. The 0°51 maintain that it should not be sold. See ‘Thinking it over’.
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(entire) year.

moon cites the amount of the yearly deterioration:
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As the mwn specifies in *79psni p79; for wheat and rice he may subtract nine

half 1°ap for each M5 that was deposited ° -
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However if the loss exceeded the yearly allotted loss, everyone agrees that (at
that point where it exceeds the yearly loss) he sells it in 7''s2.

SUMMARY

According to *"wn if the m7°® deteriorate normally (which is considered 3722
1117071), then A"2w" maintain that the 751 should sell it, while the 2°»2517 maintain
that he should not. If, however their deterioration is greater than the normal amount
all agree that he should sell it.

Moo1N maintains if the deterioration is less than the yearly amount [but more than
the pro-rated monthly amount] (which is considered 1117071 °731) then 3"2wN
maintains to sell it, and the o°251 disagree; however if the deterioration is more
than the yearly allotment, then all agree that it should be sold. However if it is
deteriorating according to the pro-rated yearly allotment (or less) then all agree that
it should not be sold.

THINKING IT OVER

I. According to mpoin if it is deteriorating more than the pro-rated monthly
amount, but less than the yearly amount the 2°»51 maintain that he should not sell
it’. This is seemingly not understood; why should he not sell it? The owner will
suffer a larger than normal loss!®

2. Why should the threshold for selling (according to the 2°%21) be the annual
loss?’ Are we assuming that he deposited it for a year?

> The nawn there is discussing where one deposited M0 by his neighbor (and the 753 mixed the deposit with similar
m " of his own), when it comes time to return the deposit, the 7721 may reduce the amount of M7 returned by the
normal deterioration which the 711wn states.

® There are one hundred eighty 1"2p to a 3. Nine half 1°2p (or four and a half 1°3p) per 713 is two and a half percent.

7 See footnote # 4.

¥ See 1" wrTn.

? See 0 MIX MW ¥ and 3P MR N"H 2"
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